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Find Your Latitude Activity

It is a well-known fact that the altitude of the North Star is roughly equal to an observer’s latitude. For instance, if the North Star is located overhead, then one must be at the North Pole. If the North Star is located on the northern horizon, then the observer must be located at or near the earth’s equator.
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Why this is so can be seen in the drawing to the left. Q indicates the observer’s position on planet Earth. N indicates the direction to the North Star. G is the observer’s overhead point. A-B is the observer’s horizon. Angle 1 is the observer’s latitude that would read zero degrees at the equator, X, and 90 degrees at the North Pole, D. Angle 2 is the elevation of the North Star. Angle 4 is the co-latitude or 90 degrees - latitude. Angle 4 = angle 3. Because angle 2 + angle 3 = 90 degrees, we can substitute angle 4 for angle 3 and get the following:

angle 2 + angle 3 = 90 degrees

angle 2 + angle 4 = 90 degrees

angle 2 + 90 degrees – latitude = 90 degrees

angle 2 – latitude = 0

angle 2 = latitude

That is, elevation of the North Star is approximately equal to one’s latitude (to better than one degree accuracy). 
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Using the Hubbard astrolabe provided you by your teacher, determine the elevation (angular distance) of the North Star* above the horizon. Indicate that value below and determine your approximate latitude.

Elevation of the North Star: 



My approximate latitude: 




* Reminder: The North Star is located above the northern horizon and is located at the end of the handle of the Little Dipper. The North Star is NOT the brightest star in the sky. That star is Sirius; it is currently located in the southern sky. 

